Vectors in the Plane 3-5-08

Scalar:

Vector:

10

-10
-10 10

Two vectors are equal

1. Lethe u the vector represented by the directed line segment RS and v be the

vector represented by the directed line segment OP Prove that u=v :
R=(-2,-1), S=(2,4), 0=(-3,-1), P=(14)
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component form

2. Let P=(-2,2), and S=(2,-8). Find the component form and magnitude of the
vector.
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um of vectors u and

product of the scalar k and the vector

3. Let P=(-2,2), Q=(34), and S=(2,-8). Find the component form and
magnitude of the vector. Y
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4. Let U=(-4,-1) and V=(2,-5). Find the component form of the vector.
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5. Let U=(—13) and W=(2,-5). Find the component form of the vector.
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6. Find a unit vector in the direction of the following vector.

W=(3,-7) U=3-5]j

7. Find the unit vector in the direction of the following vector in
a. component form
b. standard unit form

0=(3-4)

10



